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schedules of the two firms. SSr iolumn gives the eupply schedule of {irm 1 and
SSz column gives the supply of firm 2. Compute the market supply schedule-

)rice

iSr

2. Consider a market with two firms. In the
SSr anti SSz give the supply schedules

the market schedule.

:O-

following tabfe, columns labeled as
of firm 1 and firm 2 respectirdy.

in a markel The fo&i*ing table shows {lrb':
ths market supply sekdule. (NCEBT)i

I

fltlt:,tf x-
+1
:Z
i,

There are thrpe
supply schedule

identical
offixm l.Comnute\\,'+ \.

{!
!r,

iai-

4. A farmer grows rice rna r"t
the supply curve of wheat ?

5' Due to improvernent in technorogy, the marginar costs of production ofcompute's has come down, How rill it affect the supply ;;; ;""_puters ?6' Due to c-r'clone in a coastar area, the sea waler covers a rot of fields- This rviilreduce rhe productivrtv of land- How wilr ir affect rh" ;;;;; curve of rice ofLhat area ?

7' Horv is the price elastieity associated with.a. str-aight rine supply curve passingthrough the origin making and angre 60" with 0x-axis. (Foreign 2005).-.8. A straigirt line (or a linear) suppt curve cuts the y_axi.s (pricr: axis), What canyou say about elastieity_of supply ? {F,oreign 2OO5),. 
l}-::*[.rhc 

price elasticity of supply of a straighr linc supply curvc torrchrng rhc
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elasticity of suppty of a srraighL fi"" 
"roofr(1r".i,""'T.:::"?

ll. When rhe price of a commodiry rises frol Rs, 
10 

* 
_R". 

tl per ":l;::ff:::jsuppried rises by lo0 units. Its prie elasticity of suppry is 2. carcurate itsquantity supplied at the increasea price- 
-J -- eeyvLr ta t

(Ar 2006)12' The price erasticity of suppry of a oommodity is 2. when its price falls from rts.10 to Rs' t o"" "T:i its quanti-p supplied falls by 500 units. carcurate thcqtrantity supplied at the reducea'irice.- 
.-J vvv -"'* 

1o.rni 2006)l3' The elasticier of supply of a eommodity is J. An increase in ite price from Ir.s. 20to Rs' 2r per unit results in a rise in its quantity supprie, by t5o rrnits.calculate its quantity supplied at the ihcreased price. (Foreig' 2006)14' The supply ofa commodity at a price of Rs. 20 per unit is i$0 u.its-A ro percent rise in irs price_results in a tE per cenr rise ;;;;;;;pi". Eui.u,r* ils priceelasticity of supprv. It its supply elastic i 
rwe uqPr/rr' var 

(AI 200?c)15' At a price of Rs. 10 per 
1nit, the supply of a product is Eo, uniLs. when it.sprice falls by 20 per cent, its supply is iio units. carcgrate ;rsprice elasticity ofsupply. Is its s.uppry eras-tic ? (Delhi 2o0zc)

Pri€ (Rs.) 0 I 2 3 4 5 6 7 8SSr (Jnits) 0 0 2 4 6 8 7$ t2 14


